
�������

��	�
���		�
�	
������������	�������������
����	���������	����
��

�
�
�����
������
������������ !�"�	
�#
���
����$
%��&'()�*�+�)�&!������,�

����-�.��	�-/��
0�+
�1���-���,��2��-����0
,�

����-�3��1	�4���
�-1��0�,�

����-�5
%�6���������
����
0�+
�1���-�����
����7��		�
0�
+
�1���-���8�
����5����0�+
�1���-���3���
����9���0�+
�1���-���.1�����
�/����2'3��
0�
,�

����-�:1�����$��0�,�

����-�:�
�	����������
0�+
�1���-���7�
����8���
����;)%)&%()�<0����������������;)%)&%()�<

��%�5',��66*8���= ('�('))) 

���
�����
���5�����1�2�,�

��0

���6�
�
����
������9�������1��2���7����>�
�1������
�
�
�+
�����
1�2�1��2�	�?�����
���
����	�������2�
���>������9����%�5��2���+
��������
�
��7�
��
���2�
����
���
�
���2���
>���1���9��
�����0�>1
2���2���+
���������2���@�>���	�9��
��������-���
�����
9����>�
����1�2�	��2���
�������2������
�%

+
�����A
���
���>�		��	
������
�����
�������		���B�	���
����1��8�
��������������
����	����1�2�
-������9
��9����"�>�		�
�0����"
1�2>�		�
�1�2����2�
���>���C

���>�
��-���
�����
�"�	1�2�����1�2���>���A
D5����1	>�
�1������������
����	�����1��"�>�		�
0�"
1�2>�		�
�	�>�����>����
����	����
	��2���
��1��1
��
���2��
��
	
��%�"��������31�	�	���������2�����>���0�	����
9���9���	���2�
��

,�

�����2�
���.��	�-/��

+
�1����2�
�����,��2��-�����
,�

�����2�
���3��1	�4���
�-1��
,�

�����2�
���5
%�6���������
����

+
�1����2�
�������
����7��		�

+
�1����2�
�����8�
����5����
+
�1����2�
�����3���
����9���
+
�1����2�
�����.1�����
�/����2'3��

,�

�����2�
���:1�����$��
,�

�����2�
���:�
�	����������

+
�1����2�
�����7�
����8���

5��1�
)<%)=%()�<

���������	
�����

7�
1�	����������2�
����
E����
���2�	�7�1
���
���	

E��2�	��1��	��2�
���
���
����������

-����1	

+
��2��	�
%�&)
!� =�����
���
?������A�F)!<G�(;;' )))�
?�����BA�F)!<G�(;;' )))H�

E��2�	��1��	��2�����
���0�7�1
���
��
!�  )����
���



������(

�1��
1�2���
�
����9�������1�2�7�	���2��������9�
�������I���%�31�	�	�����9�������/�����2�9���
21

���9	
�>���1���F��		�
G�1�2��92
����F���2G��9�
�>�������
�
������
������>�
2��%�51

�
2����9
��9�1�2�2����
�	�������	���������E�1���2�
�I�����1	��
/��
���31�	�	��������
��������

������
��7
1
�	��
���1�2�	��������
����	���%����
����	�������2���	�
��@�2�
���1
�����51	
�'
���	0��������	0�4������	�1�2�I�����	�����	�+���'��2�
��
�����	����0�1��2���4
�21��'
�����	
��������1���
9�		�
�%�J9�
�2�	��9>�		�
����������2��	��4�
�������������2�����>����
1�2�	��������2���#9�
���
�����>�		�
0�2��3��
��������2��	�����
���
��������
������������
�����
���/����%

?
���>�		�
9
1��������2�
�$��������#9�
���
�����>�		�
��	��2�21

��2���7�2�����
�B�
��	
�����0�2��2��	��2�	�������
��
��2����		�
������
��1�2�2�9���8�
��0�7����
����	�>��������	���
4�
�����0�>������
����	�����1
�
���������/����%�6��������������9��2���7/2���1�2���2�������
��
�2����1	9
���1�������4�
�������1�2��
��2	���������	�"
1�2>�		�
������>�
�1��	������
����
��
���7�

��
�%�5���7�2�����
�B�	
���������2�
�-�������	�2�
���2���
��
���2�	�"
1�2'
>�		�
���
�2�������
����������
����	�������
���%�5�	�-�	����2�
������
��
����
1�������
���
����	�����
���������	�"
1�2>�		�
�������2�	���9������	�����
�����9�����2���4�
�����'
�����	
�������F�%�7%�"
/��0�+�
�0�#9�
���
��0�E�21��0�5�
���G�1�2�����+����
��0�2���2���
+����
>�
�1�������7/2���1�2���2��������9������1		���F�%�7%�3�
��
/�����
����1��0�
�
����	
��
�������0���		�
	�����1��0�+������	
�>��2�������1%��%G%K

+
����(A
���
����
	�
�����B�	���
�����
�2���8�
	
��1��1���2�
�6	�
�21

�����
����	���C

���>�
��-���
�����
�"�	1�2�����1�2���>���A
D���
����	�������2���	�
�����3�	���������	�+���'��2�
��
�����	�����	�>�����	�8����
�����
����'
������	���������
%�$�
��2�
���>��21������������2��	������������2����9��1		�1�2�2��������2���
3�����	�����%�6��2�
�3��
��������/�����2��	�����
���
��������
�������������������
��>�
2��%�
5����
/��
���31�	�	��������
����9���9����������3��
	
������������0�@�2�
���/�����������
��
?���
����F���
����	���G����2���#9�
���
�����>�		�
���������0�2��2��	��2�
�������
�������'
	���2����������
��>�
2����/����%��	��1		�2������1	���������>�
2��0�2�		�	�
���1
�����
2�
�6	�
���	�8�
��1��
����
����	������
��
��
�%
:����	
�������
	1
�1��	�
��9��		���1
��������2�
����
����	�������
�������2�
�6	�
��������
2���-"����
�����
%�5�������
	1
�1������
��������21

��2�	�E��2�	������
���>���0�2��2�
�
+
��	�����7�L�
����
�"�>�		�
��%�#
2�1����1	���2����	�%�5���
��>1
2�������1	��>�������
+������>�		�
�����
����	�����
��������
���>��	��%�5�����12���>��	������
2���	�2�
�1�����0�
2�		��	�	�
��@�>���	�1����������		1��������2����1�2���2����
���������1��������
2�
	��������/����%K

+
����;%�A
�����
����
��
���/��������
����	�����
�����0�2������2���3�����	��������������	��20�21

��2���
���
���
�3��
>�
����1
�
����������>�
2��C



������;

���>�
�����
���
����2����>�		�
1��A
8�
	
���2����>�		��	
������
�����12����������0�2�		����������������3��
��������������
"
�������2�	����
����	���	�����9>�		�
��1
�
���������/����%��1��
1�2�����
���
����
���2���
����L	����
	
���2���
���12����	
������2�	�+
�1�����
�6�	���1����
���>���0���
��
����	'�1�2�
���
�����
��������6:,?�2�����		�9���������9	
���2���������������3��
����������
�
���
����	�����1��<H�M�1�2���
����
����	�����1�������1��))�M%
5������
���
����2����>�		�
1���F���G�
�������2�	��9>�		�
����9��2���3��
>�
����21

��
��
����	
���1�2�9������	
���-�����1��		�1���%��
������>�
2���2��	��8�
���
��		
�
�����
21

�������>����
�����2���9>�		�

�����1���������2����
�����	�������%�6��������2�	�
"�>�		�
	
�1���	�9��
��9��2������0�9�
���	�	����
�%�;)�.��
��0����3��
>�
��"1����
�������
��������2����
�������1��-�
�����������9����
��
9�
����������%�6��2�
�+�
�>����>�
2����1����
2������1	��������0�2�		�	�
��	��
������2�����
��1
����	������1��2���-�
����������
���
����	�����
�������1	>�
���%
�1��
1�2�2�
�������B���������1	�����	���1���2�	��9>�		�
	��	���	�2�
�����>���>�����1��
3��
����������
����/���
�0�����
����7�������
1�����FI1'�1�2��9��1�G�2�
��9��	
���2�����
���
����	����
�
���2�
�1	������%�,���1��������������2������2�
2	���
�4
�9��������1�2�
����L	��0�2��������8�
����
�9�
�����2�
���
	
���2�������
/�������
�������12�����
	
�>�
��%�
�1
���1�2��
����
�������		�0�>��
���8�
���
���	�
����
�������1	�����
���8�
9�		�
1���2�
�
�9>�		�

�����1������,��9��
���1��2������
����	���
�
���������9�	����������0��������9�	��
�
��
�����
%
���	�
�����
2����2������������������+
���	����1������1�����
�0��	��2������
���
�
���2����>�		�
1����1�2��	���?��������
������1	��1	
������7��/
2���1�2�+�
��1	'
	
��		���1�2���	��		�����
��
�4�
���
����2
���+�
	
�1��	�
�@������F4E��?-�?0���4�N�
1�2��19O?
�
�G�9��������%

+
����;%(A
����9�>�
����2������2���
>���1���2�������2���7�L�
�	
�������
�1��D�:#+�-6#K����>�
������
?�
��������0�>���
��3��
>�		�
�����
���9�����	��
�
���
�/
������"�����	�	��
����
�1���
��1�2�
	�����3����	���
������	���
��
��>�
2����/����C�
�������2�
���	����������
	�
�
���2�	��������>��>�����/�����2���?�
�����������
	�������	
��
��	�>��	���������
�2�
����
���
����������1�����	����������C

���>�
�����
���
����2����>�		�
1��A
��������
������	�"�	�
�
������2�������
��������:#+�-6#��������;)%)&%()�<�
	�������1�2��%
5�	�����
�����������2�
����
���
����2����>�		�
1���F���G�2�����������
��������
'
���>�
��1�������	�����������������,L2
��L����	0�2���D,���'"'����
���
K0���
��	�����%�
7�	��
�>1
2������2�
�8�
	1
�	�������2�	�����
������	��:#+�-6#�������������2����
������	��9��A&�8�
	1
����1��-�
����������31�	�	������
�������21

������
��1�2�9�>�
���%�
6��2���8�
	1
�	
������>1
2���?
���>�		�
�F������9>�		�
G�2������
����������31�	�	����'
��
�����������
	
���2�����"
/����
����������12�	��
��1�2�2�
�-�
������21

�����1���
2�
�9����2��������		�
�
�9��9�	�����%�8�
	1
�������
�������9>�		�
�1�2����9���
����
����L	���
���
���F�%�7%�+?6-'*�-����'�����
�	�����G�>1
2�������2�����2�������2�
�
�:#+�-6#'8�
	1
�	�������9�	��
���
����
���21

������
�%�5�	�����
�������9������
	�
�����1����1�������+�������
1�������	�4
����L����������	��9��A�%



������&

I1�����1������I����1���������2������
���
����2����>�		�
1���2���?�
�����2�	�
D,���'"'����
���
	K���
����9	
�������2�9�>�
���%����2������
����	���
�
�������1
����
�
����1�������
����	��9>�		�
�9��������1��/����0�����2�������2�������
�������
�:#+�-6#�����9����0�
������9>�		�
�
�9����1	�2���3��
>�
��"1��"
�����������
�>����
��
8�
	1
����1
�8�
���1����1�	������%

+
����&A
���
���9�1��
����1�2���
���	
��������������	��2�2���9�
0�1��2�	�����
���������
1�9����2��������
�����9��1�>�		�
����2���6	�
��1�
�21���
��C

���>�
��7�1
���
��A
5���7�1
���
���	��2�+����
	L	������1��-�
����������-������9
��90�2���2�
���������������������
��
����	�����	����F"1��L	G������9�1��>�
2����/����0�9������%

I1
����>�		�
1���������
������1��7�
����	��2�@�2�
���1��
1�2�2�
���
��������
���9�
���
���9�1������
����������	�����������
����	�����	����������
����
�7�1�����/����
��
2�
��
�%
6��2��	���/��������	�
�
���2��+����
	L	������1��
1�2�2�	�4����9�2�
��	���
��������9�1��
>�
2��%

+
����HA
���
�������
�1�>��2�>�
2����
��
/��
���$��2�
	
����	�
�����		���2����1	�����
���
-�����1�������7
�
�����9�
�"�>�		�
��
��1���C

���>�
��7�1
���
��A
������1	�����
���-�����1�������7
�
�����1		
�������
����
��
/��
���$��2�
	
����	�
'
�����		����	���1��
1�2�2�
�$�
������9�
�����9��
��9��
����
���1�	���9�
%��	���		����	�����
�1
�1	�������I1	���
�����1�������������
��>�
2��%��
��1�2��������2��	�
�I1	���
�����1����
1�2�	�����2�
����
�1�>��2��/�����@�2�
���
	����
��2����
��9��		���2�	����+
����=�
�1������
����+�
	
�1��	�
�@����	�D-�����-������9
��9����2�
���>���K�����
�9�	������
>�
2��%

+
���� A
����
�	
���/�����+��
9���9
�
���0�2�
������>�		�
1���9�	�������
����9�
�2���	��2��	
���
3�����	�������
�����0����2�	����
���
�3����	L	��������	
���		���>�
2��C

���>�
��7�1
���
��A
5��2������>�		�
1��	����1����0�	��������9���2���	�����
����6	�
9
�
��������7�����
��>�
�0�
�1	�"
��2���2�	�5������	
�1���	��1
�����
���9�2�	�7�1>�
��	���
�����>�
2����/����0�	��2
2��	�����������0�	�>�����	�2���/
���
����8�
������		��F"������G��1��		��0��1
����-������
����6�	���2	���1��	�
�@�����0�>���@�����9���2���E12>��	9
�
������
��	����0�21

����
9�
%



������H

+
����=A
5�	�71�2�	����	��
�1����
�7��21���1�2�+�
	
�1���1�2�2���?��7�
�����
9���������������
4
�@��������2���?�����D-�����-������9
��9����2�
���>���K�FE�1������)�%)!%()�=���;�%)=%()()G%�
I����2��	�	�4
�@����	��	���	0�2�������
�������-���������
�������2�����
�����9��1���1�2�2�����
�1
�����+��		��1�2�������1��
�������0��1�9�������
���1�2��1�9�>�
���%�6��-������2��	�	�
4
�@����	�>1
2�������
���������.��
������?�
��������>�
����0�����2�
�-������9
��9�����		��
>�
2�������%
��
2��	�
��2��	����		��
�����������0��1�����
���	���
�����	�>��������
�����9��1�>�		�
�
����
	1
�1�������
�1������C

���>�
��7�1
���
��A
6��-������2�	�+�
	
�1��	�
�@����	�D-��K�>1
2�����2�
�?��7�
��������	��������
�4
�9�'
�������
9����>�
����0�2�
�2��������
�����9��1		�������������+�	�	��������
��4�
������
/����
�
��������
���1
�
�����%�+�
�2���7�������
1��0�2%��%���
�2���7�	����1���2�	�-������9
��9	��
��
3��0�>�
2������2���4
�9������	�������������1��
��
���L2
�1��	
���5�����F51

���1		'�1�2�
�9��1		������G0������
�����	
���5�����F$��2�
	
����	������G�	�>���8�
���
	2�����
F8�
���
	������G��
��9��%�I1	�����
��>�
2���
������������
�������
�
���
�9���
��	������0�1���1
��D�
�
����K�5���	���������1��
��		��%�������
������
����	
����F�%�7%�
���2G�1�2��
����	
����+
��2	������F�%�7%�4�������
�	��G�>�
2���2����21

���1�>��2����

����	
�'��L	�����	
���1�2����L����	
���8�
���
����1	�2���4
�9��������
���9���
�2���
��������
���5�������������2������
����4�
�����
��2�	�	������
��������B��1	�������	�������
"1���'�1�2���
�����9
��9	���������
�3��9����������
	
���2���
�����L	������2����
�������
����%

����2��	���5����������2����2�
�-������9
��9��
��3���N1���������
��>�
2��%��
	����
��9��		��
2�
�����
	1
�1������1	�7�
����	��2�9�	�()()��1��
>�
���%

����2��	���1�����
��
��������
	1
�1��	'�1�2���		�
��
����>�
2��������>�	�����
����
�	������1�2�-��29�2���1�����9��
�
����0�1��2����
���������
��9��		���1
���1����2�
��
���2���1�2���
������
������		�0��%�7%�������
�����9�
�
��9�
��1���
���%�������
����
�9�
�	�
4
�@����������
����>�
2����
�����	
����1���2�
�?�����
�����1	�>�		��	
������
��
���
���
�������>�	�����
�����1	�����
�����
�������	��>������
�2������2�����
�����
9
�����%�
8������
�	�������2����
��9��		���1	�7�
�����9��>�
����>�
2��0�1��2�������	�
�
���2��
�
���		����
�2������1������������
������������1��/����%

5�	�7�1
���
���>�
2�2������1������+�
	
�1��	�
9������2�
�?��7�
�������-������2�	�
8�
91�2�
�@����	�D-��K�>����
���
������0�1��2���2�
����>���������
�������		��9��	
2�
���	���1��������/���
�����1����������4
�@������������
����������������1���		��%

+
����!A
E�������
�������		����
0�2�		�����2���	��2��	
����31�	�
�	�������������
����	�������2���
��>����1�2����2�����		�
�
��	��1���������C
+���	��������������9
���������2���$��1
��1	�1�������	�0�>��������2��	���
���2�
��>�
2��C



������ 

���>�
��-���
�����
�"�	1�2�����1�2���>���A
D�	���9���������12���2�	�+
�1�����
�6�	���1�	��1��?�����31�	�	���������2�
���>�����1	�2���
.��
�()�!%�$�
��2�
���12���	����������
������������31�	�
�	��������9�2�1���2��P1�������
�
�
���
�	����
����	����2�
%�5�	�4
�9����	�����
���2�
�-�	���	��9	�0�	��2�
��	��������9���'
	��
1���21

��"
��1������1	�"1����1�2���2�
���31�	�	������%�5��	����������/�����21

��
8�
>��1������1
�����2�����>������������%�$�
���9������
��1�2����
��
���2�1���
	1
���	��2�
9�	�����2��������		�
�
��	��1��9����2��
�����������1�2�P1������������31�	�	�������1�2�
���
����	���%�$�
��>��������2�1������
��	��2��1
��2��������
�	�������1	>�
�1������1��
���	
�0�?��
�1�2���>���%�5�	�4
�9�������2�
���12����	�0�2�		�	���	�
������>��	���1
��1��
>�		��	
������
���7��
��1�������������
��
������		��	
������
��	������1�2�>�����
��1��
2�	��1	>�
���������B��
�����������5����%K

+
����<A�
��
2��1��	��2��	
����31�	�
�	����������"1����
��1���������	����C
+���	�@�0�>��
�������
���������B�	���
��C

���>�
��-���
�����
�7��21���1�2����
��1�2�7�1
���
��A
5���E,��	������1����
���+
��	��
����������1
��31�	�
�	�����������������
�"1����
��1���'
�����1�������1�2��>�
�����
�2�
�0�>��4������	�������	������1����>�
2��0�2�		�����$��1

�	��'
9�����2��	�
�7���	�1�����
�������2������������%�5���+
������
���/���
��������
���������1��
"1����
��1����9����2���	�
�����������	���
��9	����1���1�2�4
��1����>�	
����2���-���
��
��
�7��21���1�2����
����
�2���	��
���
���
����7�������1�2�2���7�1
���
���9������
��2�
�
9�1��
���	
�����	�����%�,��
�1���������1
�������1���������2�	�5�1�	
����#�L���	
����
���
�91�2�	�F5#�7G�1�2�2�	�5�1�	
����+1�9���'71�2�	��%�8%�F5+7G���
0�2����������
�������
�1	�����2�
	���1�������2�
�?��������>��	
����1�2����
��
����������
@��
�����
����
	1
�1��	����
�1���1�2�
�?��������31�	�
�	�������9�	��1�	�
�	�.��
�����	����>��2���
�
�
����%

�����
�1�2��
����"
����

���%�-%�,����
�� ���%�7%�+1
�	

-�	���
���,����
� 7�
�2�+1
�	
7�
1�	����������2�
���� �
	��
���
������
�2�

7�1
���
������2�
�E��2�	��1��	��2�����
��� ���
���
����2����>�		�
1��


